AGREEMENT FORM FOR POLITICAL BROADCASTS

| STATION & LOCATION KORS FM | |
|--|------------------------------|
| DATE 10/6/2022 | |
| I, Kathrine Bischof (on behalf of) 6 | reene Co-Republican Comm |
| a legally qualified candidate of the Republican | • |
| office of <u>hallot measure</u> | in the |
| election to be held on Mov. C | do hereby |
| request station time as follows: | |
| Length of broadcast: | |
| Days: attached | |
| Fimes per day: | |
| Number of weeks: | |
| Rate per ad: | • |
| Date of first broadcast: | |
| Oate of last broadcast: | |
| he broadcast will be used by <u>KDRS FM</u> | |
| represent that the payment for the above-described broad | cast time has been furnished |
| y <u>Kathrine Bischof</u> and you are authorized | |
| y such person or entity. The entity furnishing the payment | |
| erson, is () a corporation; ($ abla$) a committee; () an associa | |
| nincorporated group. The names and offices of the chief ex | |
| xecutive officers of the entity are: | • |
| | |

| I agree to indemnify and hold harmless the station from any damages or liability, |
|---|
| including reasonable attorney's fees that may ensue from the performance of the above |
| stated broadcasts. For the above stated broadcasts I also agree to prepare a script or |
| transcription, which will be delivered to the station at least |
| before the time of the scheduled broadcasts. (Note: the two preceding sentences are not |
| applicable if the candidate personally appears during the broadcast.) The purchase of the |
| time described herein is controlled, approved and authorized by the candidate or |
| his/her authorized committee. (Note: the preceding sentence applies only to candidates |
| for non-federal office.) |
| Date: 10/6/2022 |
| Candidate/Agent: <u>Falhuni BusCof</u> |
| Accepted Rejected BY: Title: GM |
| This request, whether accepted or rejected, will be available for public inspection for a |

This request, whether accepted or rejected, will be available for public inspection for a period of 2 years.

| | Greene Coun Party | Greene County Republican Party | | | | | | | | |
|------------|----------------------|--------------------------------|--------------|----------------------|------------|---|------------|----|----|-----|
| | | | | | | | | | | |
| | | | | playing what we want | we want | | | | | |
| | | | | | | | | | | |
| | Monday | ㅁ | Wednesday | Thursday | Friday | Saturday | Sunday | | | |
| | 10/10/2022 | 10/11/2022 | 10/12/2022 | 10/13/2022 | 10/14/2022 | 10/15/2022 | 10/16/2022 | | | |
| 6a-9a | | | | | | | | 0 | | 0 |
| 10a-3p | | | | | | | | 0 | | 0 |
| 2b-6p | | | | | | | | 0 | | 0 |
| ROS M-Sun | | | | | | | | 0 | 10 | 0 |
| overnights | | | | | | | | 0 | 0 | 0 |
| | | | | | | | | 0 | | 0 |
| | 700/21/01 | | CCOC/ 01/ 01 | rror/or/or | 0000/10/01 | 000000000000000000000000000000000000000 | | | | |
| 0 | 10/11/2027 | 10/10/2022 | 10/19/2022 | 10/20/2022 | 10/21/2022 | 10/22/2022 | 10/23/2022 | | | |
| ba-ya | | | | | | | | 0 | | 0 |
| 10a-3p | | | | | | | | 0 | | 0 |
| 2b-6p | | | | | | | | 0 | | 0 |
| ROS M-Sun | | | 3 | 3 | 3 | | | 6 | 10 | 90 |
| overnights | | | | | | | | 0 | 0 | 0 |
| | | | | | | | | 0 | | 90 |
| | 10/24/2022 | 10/25/2022 | 10/26/2022 | 10/27/2022 | 10/28/2022 | 10/29/2022 | 10/30/2022 | | | |
| 6a-9a | | | | | | | | 0 | | 0 |
| 10a-3p | | | | | | | | 0 | | 0 |
| 2b-6p | | | | | | | | 0 | | 0 |
| ROS M-Sun | 3 | 3 | 3 | 3 | 3 | | | 15 | 10 | 150 |
| overnights | | | | | | | | 0 | 0 | 0 |
| | | | | | | | | 15 | | 150 |

| | 10/31/2022 | 11/1/2022 | 11/2/2022 | 11/3/2022 | 11/4/2022 | 11/5/2022 | 11/6/2022 | | | |
|------------|------------|-----------|-----------|------------|-----------------------|------------|-------------|------------|----------|-----|
| 6a-9a | | | | | | | | C | | 76 |
| 10a-3p | | | | | | | |) C | | |
| 5p-6p | | | | | | | |)) | | |
| ROS M-Sun | c | m | c) | c | 8 | | | 2 7 | 70 | 7.0 |
| overnights | | | | | | | | 0 | 2 0 | OFT |
| | | | | : | | | | 15 | <u> </u> | 15. |
| | | | | | | | | | | 2 |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | 11/7/2022 | 11/8/2022 | 11/9/2022 | 11/10/2022 | 11/11/2022 11/12/2022 | 11/12/2022 | 11/13/2022 | | | |
| 6a-9a | | | | | | | 1 | 0 | | T = |
| 10a-3p | | | | | | | | 0 | | 0 0 |
| 5p-6p | | | | | | | | 0 | | |
| ROS M-Sun | 3 | 3 | : | | | | | 9 | 10 | 9 |
| overnights | | | | | | | ! | 0 | 0 | 0 |
| | | | | | | | | 9 | | 9 |
| | | | | | | | Total Spots | 45 | | |
| | | | | | | | | | | |
| | | | | | | | Total \$ | | | 450 |

MOR Media Inc. 400 Tower Drive Paragould, AR 72450 870-236-7627

Order #:

2516-00003

Description:

Salesperson:

Date Entered:

10/6/2022

P.O.#:

Mason, Dina

Invoice Frequency: Billed at end of Cal/EOS, Sorted by Date

Greene County Republican Committee Attn: Kathrine Bischof

On-Air Schedule

| 9 | Start Date | End Date Stat | ti <u>on</u> | Scheduled | Time/Event | Repeated | Length | Qty | Rate | Total | M | Tu | W | Th | F | Sa | Su |
|---|------------|---------------|--------------|-----------|-------------|----------|--------|-----|-------|--------|---|----|---|----|---|----|----|
| 1 | 10/19/2022 | 11/7/2022 KDI | RS-FM | 06:00:00 | to 22:00:00 | CUSTOM | :30 | 42 | 10.00 | 420.00 | Υ | Υ | Y | Y | Y | _ | N |
| | 10/19/2022 | 10/23/2022 | | | | | | 9 | 10.00 | 90,00 | 0 | 0 | 3 | 3 | 3 | 0 | 0 |
| | 10/24/2022 | 10/30/2022 | | | | | | 15 | 10.00 | 150.00 | 3 | 3 | 3 | 3 | 3 | 0 | 0 |
| | 10/31/2022 | 11/6/2022 | | | | | | 15 | 10.00 | 150.00 | 3 | 3 | 3 | 3 | 3 | 0 | 0 |
| | 11/7/2022 | 11/7/2022 | | | | | | 3 | 10.00 | 30.00 | 3 | 0 | 0 | 0 | 0 | 0 | 0 |
| 2 | 11/8/2022 | | RS-FM | 06:00:00 | to 18:00:00 | CUSTOM | :30 | 3 | 10.00 | 30.00 | N | Υ | N | N | N | N | N |
| | 11/8/2022 | 11/8/2022 | | | | | | 3 | 10.00 | 30.00 | 0 | 3 | 0 | 0 | 0 | 0 | 0 |

Spots: 45 **Total Charges:** \$450.00

| Tojosta Calonaan Month Ena Or Con | redule Billing Totals for Gre | ene County Republican Committee / 2516 | -00003 |
|-----------------------------------|-------------------------------|--|--------|
| | Spot Count | Net Billing | |
| October 2022 | 27 | \$270.00 | |
| November 2022 | 18 | \$180.00 | |
| Total: | 45 | \$450.00 | |

Confirmed & Accepted for MOR Media Inc. By:

Accepted for Greene County Republican Committee By: